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<<B+#1500m JlgfiiR>>
B K& JUHF = BE Bk e
1 KB A THOAS 1% TUTREE B =R 34 2.45.630 CR
2 KHEHFRSH IS TI2370  EHEBEAUSK 21 2.48.840
<<ZF1500m JIEfiIFR> >
B K& JUHF FhiE BS R e
1 XM <55 91D Do - REpNUTI=3% 32 2.58.130
2 E#AK s AXF 7= HLIRRED SR 21 2.58.440
<<BF500m lBfIER>>
Bz K% JUHF FhiE@ Feg=) SCER e
T KB AN THAS 105 TLTRBE D SR 34 79.000 CR
2 KHES IS TI2370  HEBEAMNER 21 1.28.900
<<ZTF500m JIEfIER>>
B K% JUHSF FhiE@ = g=) SR FE=
1 KA I55 ST OB ATT=IR 34 55.020
2 K EE AXF 7= HIRBES SR 21 55.550
<<B¥1000m JEfIE>>
B K& JUHF = BE Bk e
1 KB A THOAL 1% TUTREE B =R 34 1.44.010 CR
2 KHEHFRSH IS TI2370  EHEBEAUSK 21 1.48.910
<<TF1000m JIBHIER>>
B K& JUHF FhiE BS R e
1 XM <55 91D Do Ry N U= 32 T.54.200
2 &K s AXF 7= HLIRBED SR 21 1.54.600



<</ —EX500m JEfIE>>

gt K& JUHF P B Bt e
T R =02 55 TAJ010 Vortex(6) 34 52.850 CR
2 JbE S FH)\H 194 Vortex(6) 21 1.01.780
3 MHE STA4F BRI Vortex(4) 13 1.07.680
4 AR AE AXF FAF Vortex(6) 8 1.15.580
FalE 5RE P4+ U3IY  Vortex(6) DNS
<<J—E21000m IERZER> >
g K& JUHF FriE B Bt =
T R =02 1> TA101  Vortex(6) 34 1.51.800 CR
2 8K KE ZAXF FAF Vortex(6) 21 2.03.800
3 bt nE FH)\F 194 Vortex(6) 13 2.05.740
4 mMmE STA4F BRI Vortex(4) 8 2.17.190
[iig] =] —HF U3IY  Vortex(6) DNS



